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QUESTION 1

What is the result of enabling spanning tree in a network?

A. Selects the best path between LAN for redundancy.

B. Reduces the number of broadcasts necessary by forwarding a specific subnet.
C. Creates a loop-free layer-2 topology.

D. Defined by IEEE 802.1D to enforce a hybrid ring network topology.

Correct Answer: C

QUESTION 2

If you wish to silently drop all traffic destined for IP network 100.219.10.0/24 with a gateway of 10.219.10.1/24 and
without receiving any ICMP messages that would otherwise be generated, which CLI command would you execute?

A. configure iproute delete 100.219.10.0/24 gateway 10.219.10.1

B. configure iproute default 100.219.10.0/24

C. configure iproute add blackhole 100.219.10.0/24 gateway 10.219.10.1
D. configure iproute add blackhole 100.219.10.0/24

Correct Answer: D

QUESTION 3

What happens if the following CLI command is executed? create fdbentry 00:E0:2B:12:34:56 vlan corporate port 4
A. Adds a temporary static entry to the FDB

B. Adds a permanent static entry to the IPFDB

C. Adds a permanent static entry to the IPARP

D. Adds a permanent static entry to the FDB

Correct Answer: D

QUESTION 4
Which routing solution in IP RIP prevents loop problems by sending a hop count of 167

A. split horizon
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B. poison reverse
C. ECMP
D. triggered updates

Correct Answer: B

QUESTION 5

What is the default IP RIP route advertisement timer value?
A. 30 seconds

B. 60 seconds

C. 120 seconds

D. 180 seconds

Correct Answer: A
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